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Final Exam (312Z) 10-5-2018 ‘2 hours (50 Marks)

1-Put true or false for the followings (8Marks )

1-Pimary antibody is labeled in indirect immunocytochemistry. 2-Mucin can deﬁect by PAS.
. L1

3-Sudan black solubie in protein than fat solvent. 4-RNA is deté’?t‘ by Feulgen reaction.
5-Phatographic emulsion is diluted (2:1) Tri disteled water. +  6-Toatal prote:x_ns stained by Sudan black.
7-Monosaccharides can investigated in sections. 8-Mucin can detect by PAS.

9-B-Rays are strong biological energy. ) 10—Mas§ﬁ.n Trichrome stain elatic fibers.
11-(PO4) groups causes the basophilia of nucleic acids. .' ‘ 12-PAS s s:pecific for dialdehyde.

13- Oxidation of polysaccharides by HCL. Give CHO. e 14- Reso!uti?n is low with low kinetic energy.
15-Nissle granules were detected by Crystal Violet. 16- Cholesterol investigated by chemical methods
2-Match the followings for both each groups:- (10 Marks )
1-Control test (A)- RNA .

2- INHCL at 60C \ (B) Remove. purine bases.

3- Cholestrol ‘ (C ) PAS technigues demonstrated.

4- Autcradigraphic techniques 1D} stain inside thejliving body.

6-Mucin { E ) demonstration of fat.

6- Free CHO ( F) Unsaturated lipids +UV give.

7- Vital stain (G) Cell dynarr;ics & activity.

8- Ribose sugar main structure of { H). Used amylase at 37C.

9-Tritiated fatty aicds (1 ) polarized microscope.

(jiflourescein and rodamine.
L}

10-Flourochrome

3- Choose the correct answers:- . (12Marks )

1-Deoxy ribose sugar detected by (PAS —bromophénole-sudan black).

2-Bests carmine detect (protein-lipids-glycogen).

3.Orthochromatic structure contain (regular-irregular-both)space between its units.
4-Photographic emulsion is ubsed at (42-37-room) temperature.

5-Silver halide is diluted by (1:1-2:1-5:2).

6-Monomers of the dye must contain (-Ve-+Ve —both) groups. \
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Geology Department
Faculty of Science
Assiut University

Final exam, second level (Geology, Geophysics, Geology/Chemistry students)
Stratigraphy (G210), May 2018

Total score: 50 marks Time allowed: 2 hours

Answer FIVE only of the following:

Question No. 1: Write briefly on TWQ only of the following: (1 (I'marks, 5 marks each)
A- Establishment of taxon-range zone.
B- Significance of fossils in biostratigraphy.
C- Law of superposition and its structural evidences.

Question Ne., 2: Write on TWO only of the following (10 marks; 5 marks each)
A- Gencral attribuies of lithostratigraphic units.
B- Chronostratigraphic classification.
C- Contacts between lithostratigraphic units.

Question No. 3: Affirm if the following statements are correct or wrong, and correct the wrong: (10 marks;
[ mark each) ' -
A- Major cycles of marine transgression and regressmn with pronounced unconformities separate the
systems into twofold or threefold.
B- [n paraconformities apparent conformity mlght be observed across unconformlty surfaces.
C- If a lithostratigraphic unit is divided into two or more formal units, the gcographxc name of the
original unit should not be employed for any of the subdivisions.
D- Lithodemic unit does not in general conform to the law of superposition.
E- The fundamental taxonomic unit used in any refined biostratigraphy is the species.
F- The basic principle of biostratigraphy is that evolutionary changes in faunas and floras arc reversible.
G- Surface stratigraphy can give a complete picture of the subsurface.
H- Mud cracks are considered evidence for strata continuity. .
I- Relating sequences or ages measured in one place to events in other places requmq correlation.
J- Mass extinctions can reflect local events and are qualitatively and quantitatively different than normal

-

extinctions.

Question No. 4: Define FIVE only of the following: (10 marks; 2 marks each) :
A- Eustatic sea level, B- Carbon Isotope Excursion (CIE), C- Concurrent range zone, D- Allostratigraphic

unit, E- Uniformitatianism, F- Geochronelogy, G- Cross-cutting relationships.

Question No. 5: Compare between the following: (10 marks; 5 marks each)
A- Biostratigraphic and lithostratigraphic units. .
B- Thermoremanent magnetism and depositional rem3nence magnetismn.

Question No. 6: Write briefly on TWQ only of the following: (10 murks; 5 marks each)
A- Naming of magnetostratigraphic polarity units.
B- Chronostratigraphic versus biostratigraphic correlation.
C- Principles of original horizontality and inclusions.

Examiners: Prof. Magdy S. Mahmoud, Dr. Amr S. Dea}" i) gl
Good Luck



Geology Department
Faculty of Science
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J- Mass extinctions can reflect local events and are qualitatively and quantitatively different than normal

-

extinctions.

Question No. 4: Define FIVE only of the following: (10 marks; 2 marks each) :
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Examiners: Prof. Magdy S. Mahmoud, Dr. Amr S. Dea}" i) gl
Good Luck



Assiut University m May, 2018
Faculty of Science h_ St Time: 2 hrs
Chemistry Department ~ Marks: 50

L

Final Exam. of Physical and Inorganic Chemistry (”250 - CH)

Section I (Inorganic Chenistry )

Answer the following questions
1. -a) Explain the reasons for Five only from 1 he following:
i 'The Unexpected high boiling point of E[,O.
ii .NO; is an acidic Oxide
iii.SF6 is known but OF6 is not
iv. Fluorine is so strong an oxidizing ageut.
v. Cesium ions conduct electricity moi-e than lithium ions..
vi.NHj is a poisonous gas .

( 25 Marks)

b)How you can prepare three only from the following:
- super phosphate, water gas, NH:;, HI,.

¢) In each pairs of acids, state which is stronger and why?
HF and HBr, HCIO, and HI(),, H,SO4 and H,SO3

2-a) Choose the correct answer and comme nt:
i)In which species does nitrogen exhibit i ts highest oxidation state

(NH; ,NO," ,Ny) .

ii))Which one of the following species contains an evem number of

electrons: (NO,,NH;", NO)
iii)The species which contains diamagnetic oroperties is (NO, O,, Ny)

b) Element X dissolviss in water to give a colorless ancl odorless gas.
It reacts with I, to give a white s0lid X.CI.
i. Which could be the identity of X? (Argon, sodiurn, lodine)
ii. Write the equations of the reactions.

c)What the types of hardness of water ?How we can remove this problem?

See the Next Page




Section II (Physical Chemistry) . (Mark: 25)

Answer the following questions:

I) Choose the correct answer: (Mark:5)
1) The ratio of P1 and P2 correspond to variable T as:
A L . 4
£ 8% wnho o9 - el

2) If the V is keeping constant, then
=....a) AF* D) g, © AH" Q) q,

3) For reversible processing: g, =...... a) AF*, b) AG" ¢) -
4 AH=AE+... a) a) AF', b) AR, ¢) A(PV), d) AC,

5) If AH" and Q, are negative, the reaction will be:
a) irreversible  b) endothermic ) reversible d) exothermic

IT) Complete the Following: (Mark:5)
1) Under isothermal expansion of ideal gas: AS* =......
2) £ m ey 3) AG” - AG" =
. A S >
4) Cr . 5) dan= ........
dT

III -a) Show, how can you calculate the work done (/) in each operation,
maximum work (W, ), and efficiency () during Carnot cycle (Mark:4)
b) Tabulate the conditions for 7% = -100,-50,0.00,+50,+100, and o

IV-a) Prove that the equilibrium constant ( X') for the chemical reaction
is affected by the change in temperature (7):
aA+bB<*>cC+dD
b) When gaseous of Ozone (0,) is formed from the molecular oxygen by the

reaction: %02(@ 05, if AG*" =+39.1 kcal mol™

What is the value of X for this reaction at: T = 300,350,and400.K  (Mark:6)
V) The X for the reaction: 2N02(g)£~—'(—>N204(g) is:
K, =95 ,at T =320.K, AH" = -13.75 kcal / mol , R =1.98cal/mol - deg

Calculate: (i) K, ,at 7 =273K, (ii) AG*,at T =320.K (Mark: 5)
Good Luck

Examiners: Prof. Dr. Amna S A Zidan, Prof. Dr. Seddique M Ahmed



June: 2018
Time: 2 hrs.
Total Degree: 50

Assiut University
Faculty of Science
Chemistry Department )
Second Semester Final Examination
Subject: General Chemistry I (C-100)
Students: First Level “Credit Hours System”

Section (A) (25 Marks)

Answer the Following Questions:

First Question: Answer two only from the following: (12.5 Marks)

a) State Boyle’s law and drive it from kinetic gas equation.

b) i. What is meant by (three only):
Critical temperature — Boiling point - Amorphous solid - Electrophoresis.

ii. Explain briefly reduction method for preparing a colloidal solution.

¢) Give reason for three only from the following:
i. Zinc will displace hydrogen from dilute acid solution.

ii. Viscosity is low at high temperature.
iii. The vapor pressure of water is lower than that of ethyl alcohol.

iv. The crystalline solid are anisotropic.

Second Question: Answer two only from the following: (12.5 Marks)

a) i. Calculate the emf at 25 °C for the following cell:
Zn/ Zn?* (0.001M) //  Pb* (0.IM)/Pb
where E°znza*=-0.76 V  and E° popp?* =-0.13 V

ii. 30 liters of a gas has a pressure of 2 atm. and a temperature 27 °C. What will be the
volume if the pressure is changed to 5 atm. and temperature to 127 °C?

b) Assuming the following cell reaction:
Fes) + Cu2+(aq) — Fez*(aq) + Cuys)

where EO Cw/ =+ 034V and EO Fere+ = - 0.44 \"

Write the: i. Anodic and cathodic reactions.
ii. Cell diagram.
iii. Predict whether the reaction is feasible or not.

¢) Calculate the pressure exerted by 32.0 gm. of methane ( molar mass =16) in 500 mi container
at 27 °C using Van der Waal’s and ideal gas equations.

(a=2.253 L? atm.mol?, b = 0.0428 L mol”, R = 0.0821 L. atm. mol' K'')

Good Luck
Prof. Dr. Zahra Abdel Aziz

Please turn over for section B —



Section (B) (25 Marks)

Answer the Following Questions:
First Question: (11 Marks)

»

a) Choose the correct answer: (8 Marks)
1. How many orbitals have the quantum numbers: n=4, /=3, m/=0
a)7 b) 3 c)1 d)o
2. Octet rule is not followed in the formation of:
a) CHq b) NF3 ¢) BCls d) H:20
3. The emission of electrons from the surface of a metal when struck by light is the:
a) photoelectric effect b) electromagnetic radiation ¢) spectrum.
4. In which of the following theories the hybridization is considered
a) VSEPR b) Lewis ¢) molecular orbital d) valence bond
5. The geometry of NH3 on the basis of VSEPR model is:
a) trigonal planar b) trigonal pyramidal ¢) tetrahedral d) linear

6. The idea that it is impossible to know both the exact position and momentum of an object
at the same time is the uncertainty principle proposed by:
a) Schrodinger b) Louise de Broglie ¢) Heisenberg

7. Which one of the following is an allowable set of quantum numbers for an electron?
ayn=1, /=1, mu=1, ms=+1/2 byn=3, [=2, my=-1, ms=0
n=2, /=1, my=-1, ms=-172

8. What is the hybridization of a C atom in CH4?

a) sp b) sp? c) sp? d) sp’d
b) Find the deBroglie wavelength of an electron with a speed of 1.0x10° m/s.
(electron mass = 9.11x103! kg;  h = 6.626x103 kg.m?/s). (3 Marks)

Second Question: (14 Marks)
a) Draw Lewis dot (electron) structure for (PCls, H20) and determine :

i. molecular geometry ii. bond angle
iii. hybridization. (Use partial orbital diagrams to describe how the mixing
of atomic orbitals on the central atoms leads to hybrid orbitals). (6 Marks)

b) Answer two only from the following: (8 Marks)
1. Indicate whether the statement is true or false:
i. Each F-B-F angle in BFs is 120°.
ii. For Balmer seriesni =3, m2=4,5,0,....
iii. The VSEPR model is used to determine the Lewis structures.
iv. The concept of formal charges is useful in determining the most acceptable Lewis
structures.

2. Given Bz and Oz, using molecular orbital and valence bond theory:
i. Write molecular orbital configurations.
ii. Determine bond order and indicate stability.

3. NCO has three possible resonance forms:

fiomos] (o3 (veoBe

A B C
i. Determine the formal charges in each structure.
ii. Based on the formal charges, which Lewis structure is the dominant one? Explain.

(Atomic no. H=1, He=2, Be=4, B=5, C=6, N=7, O0=8, F=9, P=15, S=16, ClI=17)

Good Luck
Dr. M.I. Abdel Hamid



Assiut University

Faculty of Science Date: 10 May 2018
Chemistry Department Time: 2 hours

Final Examination of General Chemlstry (2) (C 105) for 1'St level students

B oo

Section (A): Organic Chemistry (25Marks)
Answer the following questions: ‘
Q 1: Mark (\/) for the right statement and (X) for the wrong one of the following: (10 Points)
1) Polymerization of ethylene in presence of peroxides is a free radical addition reaction. { )
2) Electrophilies are electron rich reagents. ()
3) Addition of HBr to an unsymmetric alkenes proceeds in such a way as to involve the most stable
carbocation. {

4) The hydrogen adjacent to a triple bond is less acidic than that adjacent to a double bond.
5) In each termination step, a radical is consumed, but another new radical is formed.

6) Most of electrophilic addition reactions of alkenes are regiospecific.

7) The carbonate ion has two identical carbon-oxygen bonds.

8) Structural isomers are identical compounds.

9) A curved arrow with a half head is used to indicate the movement of a single electron.
10) Melting points depend on the intermolecular forces between the individual molecules.

)
)
)
)
)
)
)
)

Q2: Complete three only of the following equations: (9 marks)

H*/Zn
a) (H3c)2czﬁ_.c|.,3 . 0 [ RT———

b) H3;C—C=C—CH; + H, Lindlar catalyst

..........................

sseerncossssesessneses
Jow  teras ssennco

) H3C—"ﬁ=CH2 + BH; H,0,/ OH

9 HyC—C=CH; + H,0 /H*

Q3: {6 Marks)

a) Give the IUPAC names of the following:
Br

z

@ (ii)

Ci

b) Sketch a reaction energy diagram for a one-step reaction that is very slow and slightly
exothermic.

1/2 Cofiakes oo ot




Section B (Analytical Chemistry)

Answer only Five of the following: " (25 Marks)

1. Use the Le-Chatelier’s principle to predict how each of the following
changes would affect this equilibrium. ,
280,(g)+0,(g) =28S0,(g) AH=-198kJ

(i) adding O,(g) to the system (ii) adding SOj; (g) to the system
(iii) lowering the temperature (iv) decreasing the pressure

2. Calculate the pH of a 0.20 M CH;COOH solution, then calculate the pH
of a solution containing 0.20 M CH;COOH and 0.30 M CH;COONa (K,
of CH;COOH = 1.8 x 10°).

3. Calculate the solubility (in g/L) of Ag,SO4 in 1.0 M Na,SO4(aq).
(Ksp = 1.4 x10”%; At. Wt.: Ag=107.86,S =32 and O = 16)

4. At 1000 K, 0.250 mol SO, and 0.200 mol O, react in a 10.0 L vessel to
form 0.162 mol SOs at equilibrium. Find the value of Kc, at 1000 K, for
the following reaction.

280,(g)+0,(2) =250,(g)

5. What is the molarity of NH,Cl solution that has a pH = 5.2? (K, of NH;
=1.8x10° and K,, =1.0 x 10™"%)

6. Calculate the molar solubility of Mg(OH), in 1.0 M NH; solution (K, of
Mg(OH), = 1.8 x 10" and K,, of NH; = 1.8 x 10°%)

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

With OGur Best Wishes

Examiners:
Prof. Dr. Hassan El-Sherief. Prof. Dr. Ali Abdelhafez Prof. Dr. Ragaa Abolwafa
Dr. Ahmed Mohamed Kamal Dr. Mohamed Abdel megeed
Dr. Doaa Abd El-Rahman Dr. Ahmed A. K. Mohammed

2/2 Giada (e Cladial)
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Assiut University

r
i

Faculty of Science May 2018

Chemistry Department Time: 2 hr.

Final Examination For 1% year "Applied Industrial Chemistry Students"
(General Chemistry I, 105C).

Section A (Organic Chemistry)

1- Answer using (\/ )or(x)on only six of the following: (9 Marks)

a) Cyclohexane is more stable than cyclopentane.
b) Polar compounds are formed between atoms of the same
electro negativities.
c) A sp® orbital is spherical in shape.
d) C.H,, is the molecular formula of cycloalkanes.
e) Cyclopentane has lower ring strain than cyclopropane.
f) Ih\ionic bond the atom gain or lose by the valence electrons.
g) C;Hg issa-member of alkynes series.
2- Answer the following questions: (16 Marks)

a) Ozoolysis of an alkene produces tow moles of
acetaldehyde. Deduce the alkene structure (3Marks).
b) Using correct arrow formalism, write the contributors to
the resonance hybride structure of actate ion (3 marks)
c) Explain the free radical chain mechanism of the
chlorination of methane (4 Marks).
d) In which compound is carbon more oxidized
propane or acetone? (3 Marks).
e) What is the IUPAC name of the expected major product
| formed upon reaction of HCl with 3-methyl -1- butene.
(3 Marks).

(Section B) <lliad (e 43 5l) ald 1)

Examiner: Prof. Ali Ahmed Abdel-Hafez



Section B (Analytical Chemistry)

Answer only Five of the following: (25 Marks)

1. For the following gaseous reaction:
N,(g)+3H,(g) =—=2NH,(g) AH=-92KJ

What is the effect of i) Addition of more nitrogen, ii) Lowering the
temperature and iii) Reducing the volume of the mixture to one-half of
its original value.

2. Calculate the pH of a solution that is both 1M CH;COOH and 1M
CH;COONa? (K,=1.8x10"%). What will be the pH after addition of HCI
~ which reacts with 2% of sodium acetate?

3. Calculate the solubility (in g/100ml) of Ag,SO, in 1M aqueous Na,SO,
solution. (K, = 1.4x10”) At 18°C. (Atomic weights: Ag = 107.9, S = 32
and O = 16).

4. For the system: A(g) +2B(g) = C(g)

The equilibrium concentrations are [A] = 0.06 mol/l, [B] = 0.12 mol/l and
[C] = 0.216 mol/l. Calculate the values of both K. and K, at 250 °C. (R =
0.082 L.atm.mol K™

5. What is the solubility of Mg(OH), in a buffer solution having pH=9?
Mg(OH),==Mg" +20H (K, =18x10")

6. A solution of 0.45 g of urea in 22.5 g of water gave a boiling point
elevation of 0.17°C. Calculate the molal elevation constant of water. (M.
Wt. of urea = 60 g/mol)

Examiner: Prof. Ali Ahmed Abdel-Hafez & Dr. Mohamed Abdel megeed
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